

---

**From:** Gregory Riches <[REDACTED]>  
**Sent:** Wednesday, January 28, 2015 9:53 PM  
**To:** Jeffrey Epstein  
**Cc:** Richard Kahn  
**Subject:** Fwd: Your Quote #60142475963 from Crate and Barrel.

Jeffrey,

Here is =he quote from Crate&Barrel as you requested.

They only =ffer a 10% discount for designers in their discount =rogram but they are covering the courier cost =ecause of the size of the order.

I went to the =tore on 59th street today to speak directly to my salesperson =arl, who I've worked with for almost 10 years and has never =et me down.

Bloomingdales proved to be very =ifficult generating a quote or offering a discount!

Most of =he items we were going to buy from them, Crate& =arrel carried at a lover price so we added that to this =rder.

The only things we will still buy from =loomingdales are the sheets, towels and bathrobes.

Once =vetlana or Julia go to Sleepy's to try the mattress then I will know =he depth of the sheets needed and can have them =ut that quote together for =ou.

Gregory

Begin forwarded message:

From: "Crate and Barrel" =lt;crateandbarrel@news=crateandbarrel.com>

Subject: Your Quote #60142475963 from Crate and =arrel.

Date: January 28, 2015 4:16:22 PM EST

To: [REDACTED]

=div style="margin-top: 0px; margin-right: 0px; margin-bottom: 0px; =argin-left: 0px;">Reply-To: =/b>"Crate and Barrel" <support-b9ttu0eazjsd7eau17zjhbbc41hxyf@news.crateandbarrel.com>=

QUOTE #: 60142475963

QUOTE DATE: 1/28/2015

ASSOCIATE: KARL =EINSONS

CUSTOMER

GREGORY RICHES INTERIORS

Gregory Riches  
43 W 28th St  
Apt 3  
New York, NY 10001

NOTES

Gregory Riches  
301-E 66th St  
Apt 11j  
New York, NY 10065  
Courier Note: Deliv Date = TBD  
AM: 917.626.6756

SKU      Description      Qty

196312 Vista -lad Ceramic 7 Piece Set      8      269.96 2,159.68      A  
Orig Price: 299.95, Price Adj - =customer Service  
COD =OURIER

560731 Cuisinart -erfect Temp Teakettle      8      116.10 928.80 A  
Orig Price: 129.00, Price Adj - =customer Service  
COD =OURIER

406430 Cuisinart -lassic 2 Slc Toaster      4      44.96 179.84 A  
Orig Price: 49.95, Price Adj - =customer Service  
COD =OURIER

169250 Clark 5 -iece Placesetting      32      35.96 1,150.72      A  
Orig Price: 39.95, =rice Adj - Customer Service  
COD COURIER

202525 Chambord -4oz. French Press      8      35.96 287.68 A  
Orig Price: 39.95, Price Adj - =customer Service  
COD =OURIER

297685 Calphalon =ontemp 17 Piece Block Set 8 179.96 1,439.68 A

Orig Price: 199.95, Price Adj - =ustomer Service  
COD =OURIER

340650 Oxo 10 =iece Utensil Set 9 53.96 485.64 A

Orig Price: 59.95, Price Adj - =ustomer Service  
COD =OURIER

524980 Oxo Box =rater 9 16.16 145.44 A

Orig Price: 17.95, Price Adj - =ustomer Service  
COD =OURIER

663801 Derwent =ainless Steel Adjstbl Salt Mill

195814 Mahogany =andle Cheese Plane 9 15.26 137.34 A

Orig Price: 16.95, Price Adj - =ustomer Service  
COD =OURIER

235533 Long End =rain Utility Board 9 26.96 242.64 A

Orig Price: 29.95, Price Adj - =ustomer Service  
COD =OURIER

125518 Sora =rylic Pitcher 140oz. 10 22.46 224.60 A

Orig Price: 24.95, =rice Adj - Customer Service  
CUST ASMBL

167030 Oil & =inegar Cruet Set 9 13.46 121.14 A

Orig Price: 14.95, Price Adj - =ustomer Service  
COD =OURIER

206453 Set of 2 =ce Cube Trays Red 10 13.46 134.60 A

Orig Price: 14.95, =rice Adj - Customer Service  
COD COURIER

544817 Double =ided Mirror 10 35.96 359.60 A

Orig Price: 39.95, Price Adj - =ustomer Service

CUST =SMBL

COD =OURIER

154965 Stainless =igital Bath Scale 10 44.96 449.60 A

Orig Price: 49.95, =rice Adj - Customer Service

COD COURIER

327298 Bennett =ow Bowl 10" 32 15.26 488.32 A

Orig Price: 16.95, Price Adj - =ustomer Service

COD =OURIER

327352 Bennett =aucer 6.75" 32 6.26 200.32 A

Orig Price: 6.95, Price Adj - Customer =ervice

COD =OURIER

327301 Bennett =up 12oz. 32 11.66 373.12 A

Orig Price: 12.95, Price Adj - =ustomer Service

COD =OURIER

326356 Bennett =alad 9" 32 13.46 430.72 A

Orig Price: 14.95, Price Adj - =ustomer Service

COD =OURIER

376892 Dylan =ighball 17oz. 32 8.96 286.72 A

Orig Price: 9.95, =rice Adj - Customer Service

COD COURIER

376922 Dylan =ouble 14oz. 32 8.06 257.92 A

Orig Price: 8.95, Price Adj - Customer =ervice

COD =OURIER

378771 Edge =hite Wine 13oz. 32 11.66 373.12 A

Orig Price: 12.95, =rice Adj - Customer Service

COD COURIER

599860 Flocked =anger Natural Set of 12 10 8.96 89.60 A

Orig Price: 9.95, =rice Adj - Customer Service

COD COURIER

251496

211173 Oxo =oilet Brush 10 20.66 206.60 A  
Orig Price: 22.95, Price Adj - =ustomer Service  
CUST =SMBL  
COD =OURIER

294383 Ariel =atural 20x20 Pillow Cover 12 120.60 1,447.20 A  
Orig Price: 134.00, =rice Adj - Customer Service  
COD COURIER

604326 Down Alt =illow Insert 20x20 12 13.50 162.00 A  
Orig Price: 15.00, =rice Adj - Customer Service  
COD COURIER

127235 Miele =uickstep S 194 8 224.10 1,792.80 A  
Orig Price: 249.00, Price Adj - =ustomer Service  
COD =OURIER

203625  
COD =OURIER

326275 Bennett =inner 11" 32 15.26 488.32 A  
Orig Price: 16.95, Price Adj - =ustomer Service  
COD =OURIER

16,483.23  
A =3D NY 8.875% : 1,462.30  
TOTAL: 17,945.53

This quote is valid for today. =uture availability, production times and prices are subject to change. =o place your order contact the sales associate listed at the top of the =uote.

We want to hear =rom you. Tell us about your shopping experience today at [crateandbarrel.com/feedback](http://crateandbarrel.com/feedback). Enter store number =21.

Find a store near =ou

footer\_09.jpg>

To make sure our email updates are delivered to your inbox, please add [crateandbarrel@news\(crateandbarrel.com](mailto:crateandbarrel@news(crateandbarrel.com) to your email Address book.

[Unsubscribe](#)

To unsubscribe from our email list, just click [here](#).

[Privacy policy](#)

Click to view our privacy policy.

This email may be considered an advertising or promotional message.

Crate and barrel, 1250 Techny Road, Northbrook, IL 60062

Gregory Riches

INTERIORS

43 West 8th #3

NYC, NY 10001



=